
Pochodne - wzory

1. (c)′ = 0, c jest stałą,

2. (xn)′ = n · xn−1, x > 0, n ∈ R,

3. (ex)′ = ex, x ∈ R,

4. (ax)′ = ax ln a, a > 0, x ∈ R,

5. (sinx)′ = cos x, x ∈ R,

6. (cosx)′ = − sinx, x ∈ R,

7. (tg x)′ = 1
cos2 x , cosx 6= 0,

8. (ctg x)′ = − 1
sin2 x , sinx 6= 0,

9. (arcsinx)′ = 1√
1−x2 , x ∈ (−1, 1),

10. (arccos x)′ = − 1√
1−x2 , x ∈ (−1, 1),

11. (arctgx)′ = 1
1+x2 , x ∈ R,

12. (arcctgx)′ = − 1
1+x2 , x ∈ R,

13. (lnx)′ = 1
x
, x > 0,

14. (loga x)′ =
1
x ln a , x > 0, a > 0, a 6= 1,

15. (c · f(x))′ = c · f ′(x), gdzie c jest stałą,

16. (f(x) + g(x))′ = f ′(x) + g′(x),

17. (f(x)− g(x))′ = f ′(x)− g′(x),

18. (f(x) · g(x))′ = f ′(x) · g(x) + f(x) · g′(x),

19.
(
f(x)
g(x)

)′
= f

′(x)·g(x)−f(x)·g′(x)
(g(x))2

, gdzie g(x) 6= 0,

20. [f (g(x))]′ = f ′ (g(x)) · g′(x).


